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Statement 

When we participated in the national competition, we were told that all of the results 
have been discussed in some professional books on number theory, and there have been 
far better methods to solve them. We didn’t know it when we were doing the study. These 
results and proofs are all got by ourselves. 

 
Abstract 

In this paper, we first discussed some properties of the symbol
kp

a
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
to make the following discussion 

more convenient. Then we used the methods of elementary number theory to discuss some basic 

properties of residue of higher degree on condition that the degree  k   is an odd prime,  n2 ,  np  

and any positive integer.   

 

Key word: residue of higher degree 

 
Introduction 
The conception of quadratic residue comes from the problem of solving quadratic 
congruence. A general quadratic congruence to a particular 

modulo )(mod02 pcbxax ≡++ can always be converted into the basic two terms 

congruence )(mod2 pax ≡ . As for the solvability of it, Euler once got a effective criterion. 

To be convenient, Legendre introduced the symbol ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
p
a

. So, the problem is to calculate the 

symbol ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
p
a

. Early in a former paper, Euler raised a conjecture. Both Legendre and Gauss 

realized the importance of the conjecture for calculating the value of Legendre symbol. The 



 

conjecture was finally completely proved by Gauss. That is the famous law of quadratic 
reciprocity. Thus, the problem of calculating Legendre symbol has been completely solved. 
But solving congruence equation of higher degree, even the most basic two terms 
congruence, is a really difficulty in elementary number theory. In this paper, we discussed 

some basic properties of two terms congruence equation )(mod paxk ≡   and some related 

problems with theories of congruence. Although most of these conclusions    can be easily 
got with algebraic number theory, we mainly used elementary methods. 
 

Definition First we suppose that ( , ) 1a p = . If  )(mod paxk ≡ has solutions, we call  a   is 

the residue of  k   degree modulo  p , otherwise we call  a   the non‐residue of  k   degree 

modulo  p . For convenience, we introduced the symbol  kp
a
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

. We denote 
1=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kp
a

, it 

represents that  a   is the residue modulo  p of degree  k ; If 
1−=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kp
a

, it represents 

that  a   is the non‐residue modulo  p   of degree  k . If  2=k , then it is quadratic residue, 

which we are familiar with.    And at this time we can omit k , and briefly symbol it as
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
p
a

. If 

1),( >pa , we denote  0=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
a

. This condition is special, we didn’t discuss it in this paper. 

 
Main results 

In this paper, we always postulate p as a prime. The conclusion when  2=p   is commonly 

known,（we always have  1
2

=⎟
⎠
⎞

⎜
⎝
⎛

k

a
）.Thus, we always postulate  p as an odd prime. 

 

1. Properties of the symbol
kp

a
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
 

First, we will discuss some properties of the symbol 
kp

a
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
  to make the following discussion 

more convenient.   

Obviously, we have 11
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kp
,    1=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

k

k

p
a

,    and if  )(mod pba ≡ ,   
kk p

b
p
a

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
.   



 

It is easy to popularize the following Euler criterion： 

Theorem 1 If )(mod1 kp ≡ , then we have 

(1) )(mod11
1

pa
p
a k

p

k

≡⇔=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ −

;    (2) )(mod11
1

1

1

pa
p
a k

n

n
k

p

k

−≡⇔−=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ ∑
−

=

−

.   

Proof  ：If )(mod1 kp ≡ ,    if  kx ≡ )(mod pa has solution x ≡ )(mod1 px ,   

then )(mod)(
11

1 pax k
p

k
p

k
−−

≡   ,    that is  )(mod11
1

1

pxa pk
p

≡≡ −
−

.   

On the contrary,    if  )(mod1
1

pa k
p

≡
−

, we can know   

( ) ( ) ( )
1

1 1 1 11 1 ( 1)11

1

0 1 1 ( ) (mod )

p
p p p pp p k iip k k k kk k k kk k

i

x x a a x a x a x a p

−
− − − −− − − −−−

=

≡ − = − + − ≡ − = − ∑
. 

Hence there must exist solutions to )(mod0 paxk ≡− . And we can also know that there 

are  k solutions to  )(mod0 paxk ≡− . 

If  )(mod1 kp ≡ , we have )(mod0)1(1
1

0

11
1 paaa

k

n

n
k

p
k

p
p ≡−=− ∑

−

=

−−
−  

If 1−=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
a

,    )(mod0\1
1

pa k
p

≡−
−

,    so  )(mod1
1

1

1

pa
k

n

n
k

p

−≡∑
−

=

−

.   

On the contrary,    if )(mod1
1

1

1

pa
k

n

n
k

p

−≡∑
−

=

−

,    we can know  )(mod0\1
1

pa k
p

≡−
−

,    thus 

1−=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
a

.   

In quadratic residue there is  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
p

ab
p
b

p
a

,    this is not surely tenable in residue of 

higher degree,    next we will proof  ： 

Theorem 2  ba,∀ , if
kk p

b
p
a

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ , don’t both equal 1− , 
kkk p

ab
p
b

p
a

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
is always 

tenable.   

Proof  ：If  1=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
a

,    1=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
b

, assume that solutions of  )(mod paxk ≡   are 

)(mod1 pxx ≡ ,solutions of  )(mod pbxk ≡ are  )(mod2 pxx ≡ ,   



 

then )(mod)( 2121 pabxxxx kkk ≡= ,    that is )(mod pabxk ≡ also has solution,    that 

is
1=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kp
ab

. Here  kkk p
ab

p
b

p
a

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

  is tenable.   

If
1,1 −=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kk p
b

p
a

,    assume the solution to  )(mod paxk ≡ is  )(mod1 pxx ≡ ,    if 

)(mod pabxk ≡ has solution,    assume the solution is )(mod2 pxx ≡ ,    that is 

)(mod2 pabxk ≡ . We say
1a−
as the solution to  1(mod )x a p⋅ ≡ . 

Therefore
1 1 1

1 1 1 1 11 ( ) ( ) ( ) (mod )k k k kx x x x a x p− − −≡ ⋅ = ⋅ ≡ ⋅ , 
1 1

1( ) (mod )kx a p− −≡ . We can know 

from  )(mod2 pabxk ≡   that 
1 1

2 (mod )ka x a ab b p− −⋅ ≡ ≡ . Because there is no solution to 

(mod )kx b p≡ , so there is also no solution to
1

2 (mod )k kx a x p−≡ ⋅ . Neither is   

1 1
2( ) (mod )kx x a p− −⋅ ≡   or 

1 1
2 1 (mod )x x x p− −⋅ ≡ . But we have It is a contradiction 

)(mod pabxk ≡ , Hence 
1−=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kp
ab

. Hence  kkk p
ab

p
b

p
a

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

.   

If 
1,1 −=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
−=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kk p
b

p
a

, we cannot decide whether   
1=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kp
ab

or 
1−=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kp
ab

. For 

example：if 3=k and 19=p ，we can know
1

19
4,1

19
2

33

−=⎟
⎠
⎞

⎜
⎝
⎛−=⎟

⎠
⎞

⎜
⎝
⎛

and 

3333 19
4

19
21

19
8

19
42

⎟
⎠
⎞

⎜
⎝
⎛×⎟

⎠
⎞

⎜
⎝
⎛==⎟

⎠
⎞

⎜
⎝
⎛=⎟

⎠
⎞

⎜
⎝
⎛ ×

，in this condition  kkk p
ab

p
b

p
a

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

is 

tenable. But we can also know 
1

19
5,1

19
2

33

−=⎟
⎠
⎞

⎜
⎝
⎛−=⎟

⎠
⎞

⎜
⎝
⎛

and 

3333 19
4

19
21

19
10

19
52

⎟
⎠
⎞

⎜
⎝
⎛×⎟

⎠
⎞

⎜
⎝
⎛≠−=⎟

⎠
⎞

⎜
⎝
⎛=⎟

⎠
⎞

⎜
⎝
⎛ ×

，in this condition  kkk p
ab

p
b

p
a

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

is not 

tenable. Hence,  kkk p
ab

p
b

p
a

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

  is not always tenable.   

 

2. The solvability of  )(mod paxk ≡  



 

If  k is an odd prime 

If  k   is an odd prime, we have )(mod)()( pxxxp kkk −=−≡− . That means the first half 

of complete residue system modulo p is corresponding to the second half of complete 
residue system modulo p . So we only need to discuss the first half part of complete residue 
system modulo p here.   

 
2.1.1 If  3=k  
We have the following conclusions 
 

Theorem 3 If  )3(mod1−≡p   , there is always  1
3

=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
p
a

,    if  )3(mod1≡p ,    there are 

only 
3

1−p
  a   in the complete residue system modulo  p make  1

3

=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
p
a

  tenable.   

Proof：If  )3(mod1≡p , according to Euler criterion, for every  a , There are    3   solutions 

to )(mod3 pax ≡ . For different  a , the solution could not be the same. Hence there are 

only 
3

1−p
  a   make  1

3

=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
p
a

  in a complete residue system modulo  p .   

If  3(mod1−≡p ,we have  1)1,3( =−p . Therefore there is a solution to 

1)1(3 =−+ pvu . We say them as 00 ,vu . 

Then ( ) ( ) ( ) )(mod
313)1(31 00000 paaaaa upvupvu ≡⋅==

−−+ . Hence, there always exists 

solution to  )(mod3 pax ≡ . Thus the theorem is tenable.     

Thus, theorem 3 is tenable.     
 

If  )3(mod1≡p ,we also have following conclusions： 

 

Corollary 1 If  21, xx   satisfy  )(mod13
1 px ≡ ,    )(mod13

2 px ≡ ,    and also 

)(mod\ 21 pxx ≡ ,    )(mod1\1 px ≡ ,    )(mod1\2 px ≡ ,    then  )(mod2
2
1 pxx ≡ .   

Proof  ：It is easy to know from above that,    1x ,    2x   are two different solutions to 

)(mod012 pxx ≡++ . From  )(mod13
1 px ≡   we have  )(mod1)()( 23

1
32

1 pxx ≡=  



 

So 2
1x also satisfy )(mod13

1 px ≡ . Also, because )(mod012 pxx ≡++ only has two 

solutions,    )(mod),(mod1 1
2
1

2
1 pxxpx ≡≡ are all impossible. Hence,  )(mod2

2
1 pxx ≡ .   

 

Corollary 2 If  x satisfy )(mod13 px ≡ ,    and also  )(mod1\ px ≡ ,    then 

)(mod1)1( 3 px −≡+ ,      and also  )(mod)2()1( 33 pxx +≡− .   

Proof  ：If  x satisfies  )(mod13 px ≡   and  )(mod1\ px ≡ ,    x satisfies 

)(mod012 pxx ≡++ ,    so      )(mod11)1(31133)1( 233 pxxxx −=+−+≡+++=+  

Also  )12244)(12()1()2( 22233 +−+−+++++−+=−−+ xxxxxxxxxx  

)(mod0)333(3 2 pxx ≡++= ,    that is  )(mod)2()1( 33 pxx +≡−  

 

Corollary 3    If there is  )(mod13
1 px ≡ ,    )(mod13

2 px ≡ ,    and  )(mod\ 21 pxx ≡ ,   

)(mod1\1 px ≡ ,      )(mod1\2 px ≡ ,    11 21 −≤<≤ pxx ,    then  121 −=+ pxx .   

Proof  ：From Corollary 1, there is    )(mod12
1121 pxxxx −≡+≡+ .   

If 
2

1, 21
−

≥
pxx ,    then according to Corollary 2,    )(mod1)1( 3

1 px −≡+ ,   

)(mod1)1( 3
2 px −≡+ .Because 

2
1,1,1 21

−
>++

pxx ,    so 

,
2

1)1(),1( 21
−

≤+−+−
pxpxp also

( ) ( ) )(mod1)1(),(mod1)1( 3
2

3
1 pxppxp ≡+−≡+− ,    this is contradictory to 

)(mod012 pxx ≡++   only has solutions  21, xx ,    and 
2

1, 21
−

≥
pxx ,    thus there is 

,
2

11 1
−

<≤
px 11 2 −≤< px ,       

Thus 
2

)1(31
2

1
21

−
=−+

−
<+

pppxx ,    thus  121 −=+ pxx .   

 
2. 1. 2 If  k   is an odd prime and  3>k    
We can reach similar conclusions: 

Theorem 4 If  )(mod1\ kp ≡   ,    1=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
a

  is tenable; if  )(mod1 kp ≡ , there are 
k

p 1−
 



 

a   in complete residue system modulo p   make  1=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
a

  tenable.   

Proof  ：If  )(mod1 kp ≡ , according to Euler criterion, for every  a , There are    k   solutions 

to )(mod paxk ≡ . For different  a , the solution could not be the same. Hence there are 

only  k
p 1−

  a   make 
1=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

kp
a

  in a complete residue system modulo  p .   

If  )(mod1\ kp ≡ ,we have  1)1,( =−pk . Therefore there is a solution to 

1)1( =−+ pvuk . We say them as 00 ,vu . 

Then ( ) ( ) ( ) )(mod00000
1)1(1 paaaaa

kupvkupvku ≡⋅==
−−+

. Hence, there always exists 

solution to  )(mod paxk ≡ . Thus the theorem is tenable.     

We can also popularize this Corollary： 
 

Corollary 4 If  ix ( 1,2, 1i k= … −， ) meet )(mod1 pxk
i ≡ ( 1,2, 1i k= … −， ) and 

)(mod1\ pxi ≡ .  ji ≠∀ ( , 1,2, 1i j k= … −， ), 
)(mod\ pxx ji ≡ . Then 

ji,∀ ( , 1,2, 1i j k= … −， ),  n∃ ( 1,2, 1n k= … −， ),  )(mod pxx j
n
i ≡∋ .   

Proof  ：It is easy to know from above that  ix   are the  1−k   solutions to 

)(mod0
1

px
k

i

ik ≡∑
=

− . From  )(mod1 pxk
i ≡ there is )(mod1)()( 22 pxx k

i
k

i ≡= ,   

)(mod1)()( 33 pxx k
i

k
i ≡= ,    ……,    )(mod1)()( 11 pxx kk

i
kk

i ≡= −− ,    so   

132 ,,, −…… k
iii xxx   also satisfy  )(mod1 pxk ≡ . Also because  )(mod0

1
px

k

i

ik ≡∑
=

− only has 

1−k   solutions,  ]1,2[ −∈∀ ki   and  Zi∈ ,    )(mod11 pxi ≡   and to  ]1,2[, −∈∀ kji ,   

Zji ∈,   and  ji ≠ ,    )(mod11 pxx ji ≡ are all impossible,    thus 

ji,∀ ( , 1,2, 1i j k= … −， ),  n∃ ( 1,2, 1n k= … −， ), 
)(mod pxx j

n
i ≡∋

.   

 

Corollary 5 If  ix ( 1,2, 1i k= … −， ) meet )(mod1 pxk
i ≡ ( 1,2, 1i k= … −， )and 



 

)(mod1\ pxi ≡ .  ji ≠∀ ( , 1,2, 1i j k= … −， ), 
)(mod\ pxx ji ≡ . then we have 

∑
−

=

−≡
1

1
)(mod1

k

i
i px

, 
∑
−

=

≡
1

1,
)(mod1

k

ji
ji pxx

,  …  , 
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2. 2 If  nk 2=  

If nk 2= ,    because 
nnn 222 )( )( xxxp =−≡− ,    that is the first half of complete residue 

system    of  n2   degree modulo p is corresponding to the second half of complete residue 

system of  n2   degree modulo p . So we only need to discuss the first half part of complete 

residue system modulo p here.   

So we only need to discuss the first half part of complete residue system of  n2   degree 

modulo p here.     

 

1. 2. 1 If  2,1 == kn    

This is the quadratic residue that we are familiar with. Theories of it is already quite perfect, here 
we will add some more.   
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From above we can know that ,    if  )4(mod1−≡p , absolute value of quadratic residue 

modulo  p   can range through the first part of complete residue system modulo  p , but the 

opposite numbers are not its residue at the same time . And if  )4(mod1≡p ,    absolute 
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proved in this paper.   
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Hence )28(mod1≡p or  )28(mod1−≡p or  )28(mod3≡p or  )28(mod3−≡p or 

)28(mod9≡p or  )28(mod9−≡p .   

We can get a further conclusion according to the discussion above. 
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By induction, there is,  ⎟⎟
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If  )4(mod1≡p , opposite numbers in residue modulo  p   always exist at the same time. 

But there is  )(mod)( 22 pxx −≡ ,    so when  n   increases,    the opposite numbers in 

residue of  12 −n   degree will become the same value in the residue of  n2   degree,      but 

this will not absolutely cause the opposite numbers in residue of higher degree to disappear. 
Following will be the proof  ： 

Theorem 10    If  ∀
2
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≤≤
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2
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2
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tenable. Then we have  )2(mod1 1+≡ np . 
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2
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−
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2
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2
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−≡ , Then we can assume  12 += tp m
  and  t is an odd number . 

Then ( ) ( ) ( ) )(mod2
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2
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−≡ . Therefore  1+≥ nm ,  )2(mod1 1+≡ np .   

On the contrary,    if  )2(mod1 1+≡ np ,    if there is  )(mod2
1 pax

n

≡ ,    then according to 

Euler criterion, which we will popularize later, there is  )(mod12
1
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Proof is finished.   
 

2. 3 If  k is  nq   (q is an odd prime) 

Similar to the discussion about  nk 2=   above, we can conclude some properties 

when nqk = . The properties have some differences when the index is odd or even. The 

condition when  nqkn == ,1   has been discussed in 1. 1. Here we always postulate  2≥n .   

 

Theorem 11 If  )(mod1\ qp ≡ , then    1=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
nqp

a
.   

Proof  ：If  )(mod1\ qp ≡ , according to theorem 1. 3. 1（1）,    residue of  q   degree modulo 

p equal complete residue system modulo  p ,    and residue of  2q   degree modulo 

p equal residue of  2q   degree of    residue of  2q   degree modulo  p ,    that is residue of 

q   degree of complete residue system modulo,    it is still complete residue system modulo 

p . By conduction,    we can know that residue of  nq   degree modulo  p equal complete 

residue system modulo  p . That is  1=⎟⎟
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⎞
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Theorem 12 If )(mod1 nqp ≡   but  )(mod1\ 1+≡ nqp ,    if nm ≥ ,    there is 
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Proof  ：If )(mod1 nqp ≡   but  )(mod1\ 1+≡ nqp ,    if  21, xx   satisfy  )(mod\ 21 pxx
nn qq ≡  

but  )(mod
11
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nn qq ≡ , there is 

)(mod1 pbq ≡ , also, there is  )(mod1)( pa qm ≡ ,  )(mod1)( pb qm ≡ , here  Nm∈  



 

and  11 −≤≤ qm , among  mm ba ,   there are at least  1−q   numbers aren’t congruent to 

each other, thus, to  a∀ ,there is  )(mod1 paq ≡ . But here )(mod1 21 pxx
nn qq ≡≡ ,    it’s a 

contradixtion,    thus  ( ) ( ) )(mod\ 21 pxx
qqqq nn

≡ .   

In residue of  nq   degree, the numbers that aren’t congruent to each other are still not 

congruent to each other after multiply itself  q   times. Hence, the theorem is tenable.   

 
2. 4 If k is a positive integer which is not smaller than 2 

Now we popularize k to a positive integer that is not smaller than 2.    Assume  ∏
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Next we will proof that it is also its sufficient condition.   
Theorem 13 The sufficient and necessary condition of 
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Proof  ：The necessarity has already been proved. Now we will proof the sufficiency.   
First we need to proof a lemma.   
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Proof  ：If 1),( 21 =kk 时,    121 =+ nkmk   must have solution,    we can assume they are 

21,mm ,    and  1)1( mps +−=α ,    1)1( npt +−= β ,    here  βα ,   are positive integers 



 

make  0, >ts ,    because  )(mod1 paxk ≡   has solution,    so 

)(mod12221 paax nktktkk ≡≡   also has solution,    in the same way,   
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The lemma is easy to be popularized：if  1
1

=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
a

,    1
2

=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
a

,    ……,    1=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

nkp
a

,   

and  nkkk ,,, 21 …… are relatively primes to each other,  ∏
=

=
n

i
ikk

1

,    then 1=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

kp
a

.   

Now back to the original problem, because  nm
n

mm ppp ，……,, 21
21   are relatively primes to 

each other ,      thus the theorem is tenable.   
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